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I Complete these sentences with the words from the box 2
1 lanyard 0.2
2 friction 0.2
3 bonnet 0.2
4 welders glovers 0.2
5 fall 0.2
6 windscreen wipers 0.2
7 combustion 0.2
8 hand-free telephone 0.2
9 clutch pedal 0.2
10 | transmitted 0.2
I Put the words in brackets in the correct forms 2
1 visits 0.2
1 is attending 0.2
2 are used 0.2
2 are replaced 0.2
3 can be lowered 0.2




can be taken 0.2
cheaper 0.2
more expensive 0.2
the most luxurious 0.2
the fastest 0.2

I Read the following passage and answer the questions. 2.0
The battery, the fuel level and the spark plugs 0.4
adjust it to the correct width 0.4
Yes, we can 0.4
There’s a loud click 0.4
We can try to realease it by pushing the car forwards and 0.4
backwards.

v Rewrite sentences using suggestion in the brackets. 2.0
A pile of bricks cannot be raised. 0.4
The tools are cleaned before they use them. 0.4
My friend’s car is more modern than my car 0.4
Rubber is a flexible material, therefore safety helmets are not 0.4
made of rubber.

We turn the steering wheel clockwise in order to make the 0.4
car turn to the right.

\ Write complete sentences using these given words. 2
He often works in the workshop but today he is driving to his | 0.2
hometown.

German cars sold all over the world. 0.2




3 You must switch off the electricity before you touch a bare 0.2
wire.
4 This car is the cheapest in the machine shop. 0.2
5 There 1s no gold in a car engine because gold is very 0.2
expensive.
6 They never use this tool but at the moment they are using it. 0.2
7 This cover is removed by Peter. 0.2
8 He should read the safety warning carefully. 0.2
9 Are cars more comfortable than motobikes? 0.2
10 | Tusually go to the factory early, hence I can meet manager. 0.2
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